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0 Differentiate the following:

a i -‘I — .XA
b i y=3x

c i y=—x

d i y=10
. y 1\6
e 1 =5
-3

f i y=4xX-5x2+2x-8
-3

. X
1 y=7x——
g ) 5

ii y=x®

ii Y =—4x5
ii y:3x

ii y=-3

i y=—3

4
ii y=2x1+33—y

oo 5
1 y:2—5x4+x_
5

9 Find f'(x) for the following functions:

3
a i flx)=x2

i
b i f(x)=8x2
4 3
c i flx)=—x*
(x) 5"
2

d i f(x)=3x*-15x5-2

e i fix)=x"
1
f i flx)=x2

4
g i f(x)=—6x 3

5
2
h i f(x):5x—8x
15
e Findd—yforthe following:
P =
a i y=4x*7
b i y=5x°¢

C I y=-2x"

9 . 2 i (j'v
@ A curve has equation y= x- —3x° +5. Find i_

e Given f(x)=4x" —3x* +2x *, find {(x).

2
i f(x)=x3

4
ii f(x)=6x3

3 5
ii f(x)==x*
()==x

5 1
ii f(x)=x3—§x3+éx2
5 3
ii f(x)=x73
: _2
ii f(x)=x 3
3
ii f(x)=-8x *
_3
7 -6
T L B,
: 3 3
i y=3x"
ii y:—BX‘H
ii y:[lel.!')
1
dx
! 5‘\;

w:— . & . i (v)=12X 8 o
@ Find the derivative of the function f(x)=12x "+ =



p—

2
) . . X i
Three students’ attempts to differentiate f(x)= ,;3x are shown.
P

which is the correct solution? Can you identify the errors made in the incorrect s

Solution 1 l Solution 2

2x—3 =x" —-3x" | x
3x°

f(x)=

—

EXERCISE 13D

0 Find dy for the following:

dx
a i y=3x i y=Ux
b i y=8%¥x iiy=%§
c i y= 1 ii 3
y__x y_x4
2
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() for the following:
ii

i f0)=Yx(x-1)

Find f
a i t'(.\'):(z.\'*i¥)(‘\'+4)
b i t‘(.\~)=ﬁ(4.\-+3)

c i f(.\'):(\/;+2.\‘)2 i
2
di f(.\-):(.\-+'1?)2 ii f(x)=(x+;)(x——
Differentiate the following: 2
a i f(x):3xx‘2 4 f(x):Hzix
bi f(x)=\/;2_3 i )=

Jx
Differentiate y = x*(3x — 4).
A curve has equation y = 2/x (x3 - 4). Find y".
y=¥x" . Find ¥

dx

Find the derivative of the function f(x)= 8
3

5
A curve has equation y= 3x” ~2x

2

x>

3x° -2x

a Ex = i
press y T in the form y = gy

+ bx,
b Hence find dy

dx
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